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In this research, we consider problem called Full-Truck-Load Pickup and Delivery
Problem which the problem characteristic can be describe that, each load has to be
transported by one vehicle from its sets of origins (Factory) to its sets of destinations
(Customer) without any transshipment at other locations. Each transportation request (Order)
specifies the size of the load to be transported, the locations where it is to be pick up and
the destinations where it is to be delivered. In some case its will specify the time window that
vehicle should pickup after and deliver before. The planner must construct a set of route in
order to satisfy transportation requests to obtain the minimum cost. Each route must specify
sequence of pickup-delivery transportation request and the depot of vehicle use in that
route. All transportation requests must send within time window constraint and not to violate
capacity of each vehicle and maximum distance in each route. Each factory is the depot that
has a limited number of vehicle. At the end of each route the vehicle must come back to its
depot. All trucks have same capacity and same type.

We introduce new algorithm for solve this problem. It's base on set partitioning
problem with column generation technique. The algorithm is nearly related to the well known
approach but has the different in description and guarantees optimality. The result shows

impressive compute time and no infeasible solution.





